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1. Answer the following questions : 1x10=10
O] 2PPIRR Teq fi

(@) What is endogenous growth?
HEEive o 9

(b) Mention one assumption of Solow
model.

e 129 9ol SR Sy 9 |
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(2)

(c) “Consumption function expresses the
relationship between consumption and
investment.” Is it true?

“col TEE ol S [RAEeR IS T
AP I 17 G FOIA ?

(d) Who introduced the permanent income
hypothesis?

A SR A0 @I TR % 2

(e) What is inventory investment?

sieR Rfacns &2

()’ What is monetary policy?
T S 2

(g9 What is time consistency of monetary
policy?

T4 NS 51 AwgT &2

(h) “Central bank of a country prepares
its fiscal policy.” Is it true or false?

“OM QR I QATT TR Re A ame
IR G FO ([ 9T ?
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() Mention one classical assumption.

GGl AFf*re SfSyE Sead 41 |

() Name one new-Keynesian economist.

GG - JYASRma w9 forn |

2. Answer the following questions : 2x5=10
wero fra erpTyRe Teq fuwn -

(a) Mention two Ilimitations of Harrod-
Domar model.

CZA"T-T IR WEI 751 A Teard 41 |

(b) Mention two assumptions of rational
expectation hypothesis.

FEorsre Ao S Yot SfourReT Tray
| '

(c) What is ' meant by residential
investment?

st Rfvcns feee & o2

(d) Mention two objectives of monetary
policy.
@ TSI o1 T TeEY 41 |
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(e) Mention two features of new classical
thoughts.

a1 WRIPre SRYER 161 Mgy SrE 341 |

3. Answer any four questions from the
following : 5x4=20

wers TR /1 R e wifkor e Tew fo

(a) Explain the limitations of Solow model.
5’5" wfER MIRmergz A 3441 |

(b) Explain the technical attributes of
Keynesian consumption function.

@@ﬂ-@ﬂwm@mwwu

(c) Briefly explain the random walk of
consumption expenditure.

o191 IR RS (TS ST 1T 41 |

(d) Explain the main determinants of
demand for money.

MR IRRAR A4w YRR I 490 |
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(e) Distinguish between active and passive
monetary policies.

A W AErE @ NI eI N [y
34 |

(/) How did Keynes differ from the
classicists? Explain.

HEIre JYLASRTTOLE P [F2°0 9439 7
[ AN

4. Answer the following questions : 10x4=40
wers fran ereryea Teq fo

(a) Cntmally discuss the Harrod-Domar
growth model.
@R'C-BIR [Rer fEB1 FAMCABAT  AZIII
A= Q1 1
Or / Q1

Discuss the relationship between
technological progress and elements of
endogenous growth.
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(b) Discuss critically the permanent income

hypothesis.
¥ YR SEEAFCS] AICEADA FHZICI S
1|

Or / 3971

What are the determinants of business
fixed investment? Discuss.

T & iR Rz & & 2 seema
341

(c) Critically discuss the Keynesian
consumption function.

(PO CS151 FEANCH! FHAACEATSA] FZPICA G
390 | :
Or / 91T

Discuss the ‘government budget
constraint’.

‘5411 ACHO 141 TS FT |

(d) Discuss different types of government

debt. What is Ricardian equivalence?
7+3=10

Rl ¥R Rfcn aoRegz SEwa 4 |
el st 52
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Or / HYq1

Discuss the main features of classical
school of macroeconomic thought.

TR wRafes sryRR Wt Ml A
CAFBPTR SCaATAT 31 |
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